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You have four choices for each objective type question as A, B, C
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and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q~N0~1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. .
b C B A QUESTIONS /=tiy Sr.No.
Vocal cords Trachea Glottis Tongue The organ which produces 1
B Y .3 o sound is called:
-u!%f/ ‘;ﬁbeL/’&.}bT
Lady finger Rubber plant Keeker Coniferous plant | The plant which produces 2
Y LAY P L S latex is:
~g;_L"fU:g.(Latex) JEL 25y
Axons Nerves Neuron Nephron The unit of nervous system is: 3
#ki i oot o PN VY
Elastic cartilage | Fibrous cartilage | Compact bone Spongy bone | Epiglottis is an example of: 4
M AS SISy 76 el o oundr P AN
The plant in which vegetative 5
propagation takes place
Colocacia Yams Mint Bryophyllum | through leaves is:
e g5k o Fosis U WosBa s Slesut Py
-9?:&_{.151.
Fruit Pollen sac Ovary Stigma The structure in which ovules 6
5 Lty st * F are found is called:
O b LS g
In Mendel’s dihybrid cross 7
phenotype of all seeds in F1
Wrinkled green Round yellow | Wrinkled yellow Round green generation was:
JoS &JS Lws A pas L AR S o AL b
S pesEdusew
The genotype of blood group 8
ii ; ; ; . ; ? AB is:
! e Bng st SAB a2
Biochemical Sun Animals Plants The basic source of energy 9
reactions G i Y for all ecosystems is:
A LA, ’ e A AL LT Eipd
Microorganisms used for the 10
Aspergillus Volvox Saccharomyces Bacillus production of formic acid are:
u’ln)ﬁ“-i J(;du K(}Lﬁf UJU"{— dW!r}CT_s/..C’(.Zé. L ledn i
e
Recycling of one tonne of 11
paper can save trees:
i s
Analgesics Sedatives Antiseptics Antibiotics The drugs used to reduce pain 12
A ke St (Al SEAG are called: )
_ujéﬂ.f &&»Idbi./ f,w
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NOTE: Write same question number and Its part number on answer book, as given in the question paper.

-4k 5_4.gwizé Z:m/.‘i‘l;ﬂﬁUly@:{Qk’d& i

SECTION-l Jilw

2. Attempt any five parts.

| 10=2x5 |

Efennlinbie 8 240w

0

Write down two functions of nasal cavity.

_J/fdwb)c'idf/d s

@)

(i)

if a person stops smoking, what does happen to his lungs?

S bl LUl (%Q,,,{uéf,r‘f_gf

(i)

(i)

What do you.know about chronic bronchitis?

?{,gz;tfuf_,fg*‘*’&f’%u,ﬂ/ (iii)

&

(iv) How efferent arteriols is formed? - Vc'f 1y Tas # (iv)
(v) What are two major causes of kidney failure? Utk :4?.56/.»(,( ugmgéwf V)
(vi) |Write down two main functions of spinal cord. _q/{/‘}ﬁ/fu;é)‘;(‘,f’:b i
(vii) | Describe two important functions of oxytocin. I Lo T | (vii)
(vii) |During seizure attack, why any object should never 5’( U 7o W o /U’J)}LG/})&J/ (viii)

be placed in epileptic patient's mouth?

3. Attempt any five parts.

10=2x5

_E fepnlizibe 8 340

() Write names of extensor and flexor muscles in upper arm. _q/{/}cKJ’ Cpaals sl il RS ! 0]
(i)  |if tendon of a muscle is cut, how will it affect the movement S‘Z,un.ol}llj/{wrhfdﬂz,@w@i?(f RN
of bone?
(iii) How new plants are formed from calluses? ‘?ugz".lga/./gcﬂ,;g&a yly/ (iii}
(iv) |Compare epigeal and hypogeal germination. K e diza £y 2 S ] (W)
(v) |How albinism is produced in a person? ?c‘—m/:lﬁqfu"/ffym u&ﬁu’r v)
(vi) |What is theory of special creation? ?C‘-‘p(g)j G55 | Wi
(vii) |Differentiate between breeds and varieties. -q/f/qu/'u.’f ksl o Sk | (vil)
What is the difference between dominant and recessive allele? . Q..J/’tfu" J) fyrly sl wartd | (viil)

(viil)

4, Attempt any five parts.

10=2x5

E fep Linbye ) 4 )y

DS P B 2 S 1

®

(i) Differentiate the intraspecific and interspecific interactions.

(i)  |Define poliution and pollutant. I P TadwT] (i)

(i) | Why s it important to study the different components of ?‘aduﬁu)&wzb’ﬂzuﬁ‘érwﬁéyﬂ (iii)
an ecosystem?

(iv) |How can we mitigate the effects of human activities on é/@’fu?kﬁuz/}&%% vy WL W)
biogeochemical cycles? Ut

(v/' | What is meant by single cell protein? ?‘c)l/l;'?;ué’{c)‘f’ (v)

(vi) |What is meant by Plasmid? ] e Sl e dik| (Vi)

(vii) |Differentiate the bactericidal and bacteriostatic antibiotics. - -uf’qj)‘jw@jgd&u@g 25l JES L | (i)

(viii) | Write two bad effects of marijuana. £ . ot vz e (il

SECTION-II_pse

& fenlatvnedf 2d

NOTE: Attempt any two questions. 18=9x2
5.(A) |How the kidney stones are formed? LIl ‘:uj&b/v@g /;;uk_;// (-5
Write the methods of its removal. 4 L)
(B) |Define skeleton and describe the role of tendons and ULJ..S.WKJ:" sl sl it S ol ()
ligaments in skeleton system. 5 -é.’:/uwauf phees
6.(A) |Describe the name and functoon of different lobes of cerebrum. | 4 J/Jusg,((%;l(téxﬂuh‘é(/u/ (N6
(B) |Explain five different methods of natural vegetative propagation Su )’étf_w@ 50 shilany s | ()
with examples. 5 'q/_,ow;j.u[,u)v
7.(A) |Define biotechnology. Describe its role in the field of food and L/ﬁi;f Ul S1i# -équ&)b?f (] (N7
agriculture. 4 -“a,fuw;/ KA
B) |Define medicinal drugs. Also describe their sources. 5 Ly _Efleis | (L)
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You have four choices for each objective type question as A, B, -mﬁ‘m.,uzuﬁwwmﬂ.ﬂ Jok y LS nniie
C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbies. Cutting or filling two or more bubbles will result in zerc mark in that question.
D o] B A Questions / = Uiy SrNo.
Suckers Tissue culture Grafting Cutting This method of propagation is also called 1
W /5" S g micropropagation:
- Sty A AL piuSnan
Ovaries Follicle Birth canal Horns Where does male rabbit transfer his sperms| 2
Uzl oS el Ut |in female rabbit?
?:‘_t’ggu%(uzjﬁeﬂf/'/?é—ljff/‘
mRNA Lysosomes Ribosomes Nucleosomes | DNA wraps around histone protein and 3
;uul'/‘:‘"“ /ry’.“’u il /y;:“;é form rounded structures called as:
‘ -c‘_tMﬂc‘_m‘»J)/Zaf;{uM DNA
Artificial Natural Evojution Variations | Intentional breeding between individuals 4
selection selection ;Bi/! S S for certain traits or combinations of trait is
5o fp2t st b ' calledas: oM AES L AP
: e b S L g S Fod
Host Parasite Pré;a ator Prey An organism that actively hunts other 5
Lot eAlg 3% it organisms is called:  Unlile ikl Ll
_g_t'ﬂgv( ¢ c‘-l:'L@c.d»Vd‘/./
Energy flow Food web Trophic level Food chain | A network of all the feeding relationship 6
LB wesd? ey D3l in an ecosystem is called ___ .
-c‘_t'lk'(_____ Jbb/aﬁ’uraﬁd/b:’u:fh/l—{kg
Risen by 3.4 % No effect Risen by 5.4 % Declined In developing countries smoking rate has: 7
e 3a% | ol |ane i 54% | <8l BRI AT BN,
é"— ‘/m‘/, (‘.'—‘ g
Sodium ions Water Urea Glucose Which thing is not typically found in urine? | 8
ity dy Ly A Qe eyl oS
Which nervous disorder in muscles does 9
Goiter Paralysis Tetany Epilepsy occur as a result of damage to the central
1 L & & nervous system? ;:Jé?uuﬁu’("’ 073t
e bl YLl L U e
Which hormone is produced less when 10
Thyroxin Insulin Esterogen Androgen | reproductive cycle is stopped in human
u’qjéb? di)r"l S skl females? Jf Lr:'fh/;.jw Llpe
s Didurilol et
Interferons Vaccine Thymosin Urokinase is used to dissolve blocod clots. 11
SR E o5 o gl eiaslS g e b1 L3 s AL p
Silver nitrate Sodium Suiphur oxide Ammonium | The powder of is applied on wounds | 12
ek phosphate ST nitrate to stop bleeding and prevent infections.
2ty LA | e oS e telB Uit AL

B XANA U P
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NOTE: Write same question number and its part number on answer book, as glven In the question paper.

-q.@»u‘:.;,(,gmfké ZpJ:AvZul/ﬁ})r‘(};{QVQb‘: oY)

SECTION-I Jil.o

2. Attempt any five parts. 10=2x5 g fenlonbie S 2 0
()  |Whatis nicotine? A |0
(i)  |How smoking does affect another person? ?9-3/'//“3‘4/@‘? B | (i)
(i) | Write down symptoms of lungs cancer. -uf‘@,mJ/[Lu:p»;’? (iif)
(iv) |How dew is different from guttation? ?f—-if';b/’u/%—oﬁeif f; (iv)
(v) Define excretion. -u_‘/..,y /"Jgﬁpg v)
(vi)  |Whatis difference between receptors and effectors? S JAUUE 5 S0k 90 )y | (VD)
(viy | What are saltatory impulses? s A | il
(viii) | Define Ganglion. SIS | (i)
3. Attempt any five parts. 10=2x5 -;ﬁ}/.;gmﬁzrégc,éf ..3/.)&’}’
(i Differentiate the endoskeleton and exoskeleton. RV EIPRLY- RV ICOPRVR 7 Bk 1 L PP e 0]
(i) |Whatis Gout? W |G
(iii) What is the difference between spores and cyst? ?‘gd}y’uﬁ s sl e (iii)
(iv) | Write two characteristics of wind pollinated flowers. -uf(ayy’%:Juﬂ,éL!;Ln%?dgam (iv)
(v) Define trait. Give its two examples. _u,‘f’gu:'tﬁ»,)J,u‘/_,ngqj (v)
(v.i) Differentiate the gene and allele. ST St | (i)
(vii) - |What is meant by complete dominance? ?‘4,)1/L»f¢_u'y’;5‘)’[ (vii)
(viii) | Write two characteristics of discontinuous variation. B Sukad | i)
4. Attempt any five parts. 1710=2x5 .-g‘,{(f:ay_?.ﬁl'].fé(;c—éf a0

0) Why consumers are called heterotrophs? St s u}’fﬁfﬁJ/{"f'ﬁ (i)
(i) _|How do the camivores plants fulfill their nitrogen requirements? ', ?U;Lﬁj.gz_:i/fwgu/dfuﬁ;}'tq !4,;_;’)”,»&1( (i)
(iii) Write down two harmful effects of smog. R ! -égfafjlo:uwﬁ)ZJf iii)
(iv) |Whatis dengue fever?. Write its two symptoms. ; ‘46.:,\.1&»01/! (-"L("/J!EOC'; (iv)
(V) Define fermentation also write the name of its two b;sic types. i _é_’{ ;’}ta’;rt}ldjgu&qmné.gﬂf u’:&‘// (v)
(vi) | When and how human insulin was prepared? 1 Sl A AU (vi)
(vil)  {Define pharmacology and distinguish it fronfpharmacy. e S e 5t oy A6 | (vil)
(viil) | Write down two names of narcotics obtained from opium(Poppy). | _gf;({]’rtéu’%b»dbi.nd" b oy | (viil)

SECTION-II fas.e

L fenl e tyne 3 o)

NOTE: Attempt any two questions. 18=9x2
5.(A) |Why is dialysis needed? Write its methods. 4 E LIS e BgudentS s | (s
(B) |Write a note on arthritis. Also give its types. 5 _.f_f,//;(.‘lﬁld/w,’é -46_‘«)4(}5’7/7/7 ()
6.(A) |Define feed back mechanism and describe negative feed | LipL&I<,K /,ru:‘,ﬁr»f“é_g/o}%ﬁ/ug:g (-6
back mechanism with reference to insulin and glucagon. 1+3=4 -g-’:u(_/.rj@ygfgkg &
(B) |Define vegetative propagation and expiain two common shbua oo oy A8 RY-TLERPRR R TPy [ (W)
methods of artificial vegetative propagation 1+2+2=5 -éyu:(fu;%’ /’(lw[_ w..&f# 903
7.(A) | Describe the role of biotechnology in the field of medicine. | 4 -g)@y./b/ EEALASE AL et | (DT
(B) |What are antibiotics? Describe their major groups in detail. | 5 _q/agag}..“g ui:/("lciul Sy u"g:'u}%! (&)
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